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Scena dla orkiestry

11 x 16,0
30,5

5 x 15,5
33,0

Hpom. 340 cm

Hpom. 340 cm

Hpom. 340 cm

KUCHNIA

159,84

POM.  PORZĄDKOWE

SALA

15,20

2/4

44,88

KLATKA  SCHODOWA

  0,96

220,88

terakota

terakota

terakota

NR.
POM.

POW.
UśYTK.

NAZWA   POMIESZCZENIA RODZAJ  POSADZKI

BILANS  POWIERZCHNI  ISTNIEJĄCEJ 

wykładzina  PCV

m
2

p.u.POWIERZCHNIA   RAZEM:

2/1

2/2

2/3

Kuchnia
2/3
terakota
A: 44,9 m2

Pom. porzad.
2/4
terakota
A: 1,0 m2

Klatka  schodowa
2/1
terakota
A: 15,2 m2

Sala
2/2
deski
A: 159,8 m2


